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1 Work out    4.08  ✕  3.7

(Total for Question 1 is 3 marks)

2 Work out

Give your answer as a mixed number in its simplest form.

(Total for Question 2 is 3 marks)

Answer ALL questions.

Write your answers in the spaces provided.

You must write down all the stages in your working.

2
3

24 ÷



3 (a)  Write 72 as a product of its prime factors.

       Give your answer in index form.

(b) Find the lowest common multiple (LCM) of 72 and 90

(2)

(Total for Question 3 is 4 marks)

(2)



4 Billie, Nicky and Katy share some money.

Billie and Nicky have £240 in the ratio 3:5 

The amount of money that Nicky has to the amount of money Katy has is in the ratio 3:2

How much money does Katy have?

(Total for Question 4 is 3 marks)

5 There are only pink cubes, grey cubes and white cubes in a box.

The table shows the probability of taking at random a pink cube from the box.

The number of white cubes in the box is three times the number of grey cubes.

Complete the table.

Colour pink grey white

Probability 0.4

(Total for Question 5 is 2 marks)

£



(a)  Write 0.00209 in standard form.

(b) Write 1.302 × 104 as an ordinary number.

6

(1)

(1)

(Total for Question 6 is 2 marks)

7
A

B

C

D

E
71º

105º

120º

F

x

ABCDE is a pentagon 

EDF is a straight line

Angle CDE is 30º greater than angle BCD

 

Work out the size of angle x

You must show all your working.

(Total for Question 7 is 4 marks)

°



(a) Complete the table of values for    y = x2 – x – 1

(b) On the grid, draw the graph of y = x2 – x – 1   for values of 𝑥 from -1 to 3

(c) Using your graph, find estimates for the solutions of the equation x2 – x – 1 = 0

8

(Total for Question 8 is 6 marks)

𝑥 -1 0 1 2 3

𝑦

(2)

(2)

(2)

x

1

2

3

4

5

6

-2

O

-1

y

-1 321



9

(Total for Question 9 is 8 marks)

(a) Simplify (t4)3

(b) Simplify   20x3y -2 × 4xy3 

(c) Work out

(d) Write down the value of 70

(e) Work out the value of  64

(1)

(2)

(2)

(2)

(1)

53 × 5 -6

5 -5

2

3
– 



The frequency table gives information about the cost, in pounds (£), of 36 different products in 

an online store.

(a) On the grid, draw a cumulative frequency graph for this information.

(b) Use the graph to find an estimate for the interquartile range.

10

(Total for Question 10 is 5 marks)

Cost (£c)

Cost (£c) Frequency

0 < c ≤ 5 2

5 < c ≤ 10 6

10 < c ≤ 15 10

15 < c ≤ 20 12

20 < c ≤ 25 5

25 < c ≤ 30 1

(2)

(3)

5 10 15 20 25 30

10

20

0
0

Cumulative 

frequency

30

40



Write  1.45  as a mixed fraction in its simplest form.

You must show all your working.

11

(Total for Question 11 is 3 marks)

The line L1 goes through the points (-3, 5) and (1, 4).

The line L2 is perpendicular to line L1 and goes through the point (3, -2)

Find the equation of the line L2

12

(Total for Question 12 is 3 marks)

. .



13

(Total for Question 13 is 3 marks)

There are 8 boys and 12 girls in a class.

The class has a test. 

The mean mark for the girls is 30.

The mean mark for the boys is 25.

Work out the mean mark for all the students in the class.

14

(Total for Question 14 is 3 marks)

Prove algebraically that the difference between the squares of consecutive integers is equal to 

the sum of the two integers. 



ABCD is a trapezium.

AB = 2 3 cm

BC = 5 cm

CD = 30 cm
Angle BAD = 30º

Work out the exact area of the trapezium.

15

(Total for Question 15 is 5 marks)

A

B C

D

30º

5 cm

2 3 cm 30 cm

cm2



16 There are only 5 blue sweets, 4 yellow sweets and 3 red sweets in a packet. 

Hannah takes two sweets from the packet. 

Work out the probability that the two sweets are different colours.

(Total for Question 16 is 4 marks)



17 y is inversely proportional to x2 
When y = 10, x = 3

x is directly proportional to z 

When x = 5, z = 10

Find a formula for y in terms of z.

Give your answer in its simplest form.

(Total for Question 17 is 5 marks)



18 Solve

(Total for Question 18 is 5 marks)

3x + 5

2

2x – 1

3x
= 5–



x

y

O 1 2 3 4 5-5 -4 -3 -2 -1

1

2

3

4

5

-5

-4

-3

-2

-1

19 The graph of y = f(x) is shown below

(a) On the grid above, draw the graph of  y = f(x – 1)

(b) Write down the coordinates of the turning point of the curve with equation y = – f(x) + 1  

  

(2)

(Total for Question 19 is 4 marks)

(                  ,                   )

(2)



20 Here are two similar shapes, Shape A and Shape B.

The total volume of Shape A is 32 π cm3

The total volume of Shape B is 256 π cm3

Calculate the radius of Shape A.

 

(Total for Question 20 is 5 marks)

A B

cm

TOTAL FOR PAPER IS 80 MARKS

Volume of a cone = 
1
3
 πr2h

l h

r

Volume of a Sphere = 
4
3

 πr3

r

10x cm

x cm
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